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Eﬁg TREOBEBOSILEHOKRES TERFDOHBEEILHNOKRES TEFEOBEBOEILHOKRES TREOHBEEILADKES
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7 100kN/m##8%% | 1.00 | 000 ~ 256| 14012 |3mEBZ% -~ - -] 100kN/ %8825 | 1.00 | 1098 ~ 21.83| 140.12 |3m%E#Bz% ~ -
s 1.00 | 266 ~ 1034 100.00 | #nst | 0.00 ~ 1034 2.90 15.54 st 1.00 | 6.00 ~ 1098 100.00 | =nst | 6.00 ~ 2183| 2.90 15.54
2 100kN/m%E#2%5 | 1.00|0.00 ~ 299 147,47 |3mZE#BZB| 000 ~ 0.01| 3.01 16.09 | 100kN/mi%#825 | 1.00 | 1055 ~ 2729\ 14747 |3m&E#Bz 3| 2500 ~ 27.29| 3.01 16.09
s 1.00 | 299 ~ 1077 100.00 | =nhst | 001 ~ 1077( 3.00 16.05 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
3 100kN/mi%E#82% | 1.00|000 ~ 1.79 127,48 |3m%E#BZ 5 ~ -] 100kN/ %825 | 1.00 | 10563 ~ 1689 | 12748 |3m%E#Bz% ~
s 100|179 ~ 957 100.00 | #nlst | 0.00 ~ 9.57| 2.38 1276 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1689| 2.38 12.756
4 100kN/mM##BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ S| 3mEBZD ~
s 1.00 | 000 ~ 7.77 99.82 | #nS | 000 ~ 7.77| 2.22 11.89 st 1.00 | 6.00 ~ 1052 99.82 | #h4t | 5.00 ~ 1052| 2.22 11.89
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 7.50 95.83 | =hLs | 000 ~ 000 1.72 919 st 1.00 | 6.00 ~ 989 95.83 | #h4 | 5.00 ~ 989 1.72 919
P 100kN/m%EBZ5 | 1.00 000 ~ 032 10479 |3mEEZS ~ -] 100kN/ %825 | 1.00 | 10.72 ~ 11.59| 104.79 |3m%E#BZ% ~
s 1.00 | 032 ~ 811 100.00 | #nst | 0.00 ~ 811|229 12.24 st 1.00 | 6.00 ~ 1072 100.00 | =nst | 6.00 ~ 11.59| 2.29 12.24
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 718 91.27 | #nRS | 000 ~ 7.18| 1.96 10.49 st 1.00 | 6.00 ~ 9.94 91.27 | #hd4 | 5.00 ~ 994 | 1.96 10.49
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 000 ~ 735 93.77 | #nLRS | 0.00 ~ 0.00| 1.69 9.02 st 1.00 | 6.00 ~ 9.67 93.77 | #hS | 5.00 ~ 9.67| 1.69 9.02
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ S| 3mEBZD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
10 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
11 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
12 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ S| 3mEBZD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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